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Be sure to put your name and your TAs name or section letter.  Explain all your answers.  

ANSWER 4 OF THE 6 QUESTIONS.

1.  Jane can “produce” 5 potatoes or 3 ounces of berries per hour.

a.  If Jane had access to a store where potatoes are bought and sold for $2 each and berries for $1 per ounce, would you expect her to specialize in production?  

    Chris can find 4 potatoes or 4 ounces of berries per hour.

b.  If Chris and Jane meet and continue to meet, do you expect specialization and trade?

c.  If Chris and Jane meet and continue to meet, what do you expect to happen to Chris’s consumption of potatoes compared to when he was alone?

d.  Jane can decide whether Mary can participate in the economy with her and Chris.  Mary can produce 3 potatoes or 2 berries per hour.  Do you expect Jane to allow Mary’s participation? 

2. True, false, uncertain.  Explain.

a. You receive secret information that the federal government will open up production of crude oil on the North Slope of Alaska.  You can likely make a profit by buying natural gas futures.

b.  If individuals could trade time, efficient production would be achieved by following the Law of Absolute Advantage.

c.  Korean auto makers have an advantage over U.S. auto makers since the Korean auto makers are not burdened with old obsolete plants.

d.  Politicians have advocated "energy independence" for the United States, that is, reliance on domestic energy supplies.  Importation of substantial oil imports indicates energy "dependence”.

3. True, false, uncertain.  Explain.

a.  The amount of known oil reserves are expected to increase if the interest rate falls.

b.  Specialization without trade would not be efficient.

c.  In recent years, an increasing percent of the work force is employed in the “services.”  Many service workers simply provide things that we used to provide for ourselves – cleaning the house, cooking, laundry services, etc.  Since such service workers do not, therefore, add to the amounts of goods available, they do not increase the wealth available in society.
d.  John owns the land and store where he sells clothes.  Therefore has a comparative advantage over the competing clothes sellers who have to rent their space.
4.  The state legislature has decided to finance prenatal health care through an increased tax on cigarettes.  Evaluate each of the following claims about the effect of the tax:

       a.  An increase in the tax per pack may not increase the amount of tax revenue collected.

b.  Since the tax is levied on the sellers of cigarettes rather than the consumers, the tax is unlikely to affect smoking.


c.  The amount of the tax collected will decline over time.
5.   True, false, uncertain.  Explain.

a.  The most efficient technology depends upon input prices, the output price and the length of time in which to choose the technology.

b.  As the interest rate increases, the value of becoming a doctor as compared to being an elementary school teacher will rise.

c.  Contrary to the claims of economists, specialization and complex production do not benefit consumers since numerous unproductive individuals such as monitors and middlemen become involved in production.

d.  The major difference between a government deficit and a trade deficit is that the government deficit results from investment rather than consumption.

6.  Explain each of the following:

a.  Supply is more elastic in the long run;  b.  futures market allow the hedging of risk; c.  roundabout production leads to declining marginal costs; d.  efficient markets imply it is difficult to lose money by randomly picking and holding stocks; e. the interest rate rises if expected inflation increases. 
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